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Instructions 

1. Answer all the questions. 

2. Use the coding sheet provided and do not mark in the question booklet. 

3. Options ‘A’, ‘B’, ‘C’, or ‘D’ ‘ are to be marked with blue/black ball point pen in the coding 

sheet. 

_________________________________________________________________________________ 

 

SECTION – A 

60  X 1 = 60  

Choose the correct answer from the options given below for each question: 

 

1. The ____________ usually mentions the date, time and place of the offence, basic details of 

the offence, including a description of the events. 

              A) FIR      B) PIL 

              C)  Appeal                 D) Petition 

2. Which of the following states share the Gauhati High Court in Guwahati? 

1. Assam   2. Arunachal Pradesh  3. Nagaland 

4. Mizoram   5. Uttar Pradesh  6. Punjab 

               A) 1, 2, 3 and 6 only    B) 3, 4, 5 and 6 only 

               C) 1, 2, 3 and 4 only                D) 2, 3, 4, 5 and 6 only 

3. Which among the following is the oldest High court in India? 

A) Bombay High Court    B) Madras High Court 

              C) Calcutta High Court    D) Andhra Pradesh High Court 

4. Killing of one’s own mother is known as ____________. 

 A) Infanticide      B) Foeticide  

             C) Matricide                  D) Suicide 

5. Headquarters of UNHCR, which is also known as the UN Refugee Agency is located in  

 A) Washington       B) Moscow 

 C) Geneva       D) London  

6. In India, death sentence is awarded in __________ cases only. 

A) Rape      B) Murder 

C) Rarest of rare    D) Kidnapping 
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7. Which of the following statements related to narco analysis is/are correct?  

 A) It involves the intravenous administration of sodium pentothal. 

 B) The subject is out in a state of hypnotism. 

 C) An overdose of the chemical used in narco analysis can even cause death. 

 D) All of the above  

8. Which of the following is used to detect fingerprints on a piece of paper? 

 A) X-rays        B) Infra-red rays  

 C) Ultra-violet radiation      D) Gamma-rays  

9. Which of the following statements about National Green Tribunal is/are correct? 

1. It is a specialised body equipped with the necessary expertise to handle environmental 

disputes involving multidisciplinary issues. 

   2. The tribunal shall be bound by the procedure laid down under the Code of Civil Procedure, 

1908. 

 Which of the above-mentioned statement(s) is/are correct? 

A) 1 only       B) 2 only  

 C) Both 1 and 2       D) Neither 1 nor 2 

10. On May 11, 2018, Supreme Court of India approved “Compensation Scheme for Women 

Victims/ Survivors of sexual assault/ other crimes”. A compensation fund will be set up and it 

would be managed by_________?  

A) State Legal Service Authority (SLSA)   B) State Governments 

C) Central Governments      D) High courts 

11. The basic components of a cell is/are 

 1. Cell membrane  2. Cytoplasm    3. Nucleus  

 Select the correct answer using the code given below: 

 A) 1 only        B) 1 and 2 only  

 C) 2 and 3 only       D) 1, 2 and 3  

12. Hydroponics’ is a process of 

A) Growing plants in sand, gravel or liquid, with added nutrients, but without soil   

B) The chemical break down of the compound due to reaction with water, a principle which is 

useful for green vehicle technologies 
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C) Growing plants in shallow water bodies using some fish species for the purpose of ‘fishnure’ 

or fish manure 

D) None of the above 

13. Which of the following is not the function of United Nations Security Council? 

A) It recommends to the General Assembly the appointment of the Secretary-General and the 

admission of new Members to the United Nations. 

 B) Its primary responsibility is to maintain the peace and security. 

 C) It has role in election of the judges of the International Court of Justice. 

 D) It calls on Members to apply military sanctions only rather than economic sanctions.  

14. The Sustainable Development Goals (SDGs), which were adopted by the United Nations 

Organisation in place of the Millennium Development Goals (MDGs) 2015, aim to achieve 

the 17 goals by the year 

 A) 2020        B) 2030  

 C) 2040        D) 2050  

15. A writ issued to secure the release of a person found to be detained illegally is 

 A) Mandamus       B) Habeas Corpus  

 C) Certiorari       D) Prohibition  

16. On May 23, 2018, The Union Cabinet approved the ordinance of setting India’s first National 

Sports University in__________________? 

A) Guwahati, Assam      B) Imphal, Manipur 

C) Patna, Bihar       D) Shillong, Meghalaya 

17. The National Game of India is _____________ 

A) Cricket       B) Football 

C) Tennis                   D) Hockey 

18. Who/Which of the following is the Custodian of the Constitution of India? 

A) The President of India     B) The Prime Minister of India 

C) The Lok Sabha Secretariat     D) The Supreme Court of India 

19. The historic decision of the Supreme Court regarding the Right to Privacy, under the Article 

21 which guarantees right to life and personal liberty of the Indian Constitution, has been 

considered as a fundamental right. This decision will affect which of the following areas?  

 1. IPC Section 377 
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 2. Euthanasia 

 3. Ban on liquor consumption in some states  

 4. Social Media 

Select the correct answer using the code given below: 

A) 1, 2, 3 and 4      B) 1, 2 and 3 

 C) 1, 2 and 3       D) 2 and 4 

20. Match List-I with List-II and select the correct answer using the code given below the lists: 

List – I List-II 

A. Attention to the requirements of a 

particular region 
1. Article 14 of the Indian Constitution  

B. Unequal rights to women regarding 

family property and children  
2. Liberal Individualism  

C. Accepting importance of community 

in an individual’s life 
3. Neglect of Gender Justice  

D. Equality before law 
4. Article 370 and 371 of the Indian     

Constitution  

Code: 

A) A-4;  B-2;  C-3;  D-1 

B) A-4;  B-3;  C-2;  D-1 

C) A-4;  B-3;  C-1;  D-2 

D) A-2;  B-1;  C-3;  D-4 

 

21. Article 370 of the Indian Constitution is a “temporary provision” which grants special 

autonomous status to Jammu and Kashmir. Consider the following statements about Special 

status to the State of J&K. 

 

1) Parliament needs the state government’s concurrence for applying all laws. 

2) Indian Parliament cannot increase or reduce the borders of the state and Indian citizens 

from other states cannot purchase land or property in Jammu and Kashmir. 

3) The state’s residents live under a separate set of laws including those related to fundamental 

rights as compared to other Indians. 

 

Choose the correct option from the code given below: 

 

A) Only 2       C) 2 and 3 

C) 1 and 2       D) All of the above 

22. Assertion (A): The Constitution of India has become the longest one. 

Reason (R): The chapter on Fundamental Rights has been borrowed from the model of 

American Constitution. 

Choose the correct answer using the following code: 

 

A) Both A and R are correct and R is the correct explanation for A 

B) Both A and R are correct but R is not the correct explanation for A 
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C) A is true, but R is false 

23. A is false, but R is true Quit India Movement was launched in response to  

 

A) Cabinet Mission Plan     B) Cripps Proposals 

C) Simon Commission Report    D) Wavell Plan  

24. Which of the following river/s is/are believed to be older than the Himalayas? 

 

1. Indus 

2. Ganga 

3. Brahmaputra 

4. Sultlej 

 

Select the correct answer using the code given below: 

 

A) 1, 2 and 3       B) 1 and 3 

C) Only 4       D) 1, 3 and 4 

25. Which of the below mentioned contaminants are reasons for Ozone depletion? 

 1. Chlorofluorocarbons (CFCs) 

 2. Carbon Di-oxide  

 3. Carbon Tetrachloride  

 4. Methyl Bromide  

 Select the correct answer using the code given below: 

 A) 1 and 2 only       B) 1, 2 and 3   

 C) 1, 3, and 4       D) 1, 2, 3 and 4  

26. Antibiotics are drugs used for the cure of _______________. 

A. Bacterial diseases    B. Cancer 

C. Malaria      D. Nervous disorders 

27. Government of India demonetised Rs.500 and Rs.1000 currency notes with an aim to 

________________  

 1. Curb Black Money     2. Control Counterfeit Notes 

 3. Stop Terrorist Funding    4. Curb Corruption 

 Select the correct answer using the codes given below: 

 A) 1 only        B) 1 and 2 

 C) 2 only        D) 1, 2, 3 and 4  
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28. Emmanuel Macron was elected as the new President of _____________ 

A) Germany                                                     B)  Italy   

C)    France                                                    D) Spain 

29. Who is the Chairman of Rajya Sabha?  

 A) P. J. Kurien       B) M. Venkaiah Naidu  

 C) Mohammad Hamid Ansari     C) Ghulam Nabi Azad  

30. Vladimir Putin sworn in as Russia’s President for ________ term on May 7, 2018.  

A) Third       B) Fourth 

 C) Fifth        D) Sixth 

31. Recently, Malala Yousafzai has been appointed as youngest Messenger of Peace in  

A) United Nations      B) European Institute of Peace  

 C) International Peace Bureau     D) UNESCO 

32. Who is the first Indian Fencer to win medal in Asian Fencing Championship? 

              A) Bhavani Devi    B) Tankisha Khatri 

              C) Karan Singh    D) Sushila Devi 

33. Consider the following statements: 

1. National Electric Mobility Mission Plan 2020 aims to achieve 50% e-mobility by 2025 

and 100% by 2050 pan India 

2. Indian Transportation sector accounts for around half of total CO2 emissions  

Which of the following statements given above is / are correct? 

A) 1 only     B) 2 only 

C) Both 1 and 2    D) Neither 1 nor 2 

34. e-Integrated Ombudsman scheme, recently in news, will not address the consumer grievances 

redressal related to which of the following? 

            A) Banking     B) Insurance Sector 

            C) Digital Transaction   D) Non-Bank Finance Companies  

 

35. Which one of the following countries is hosting the Para Athletics World Championships 

2023? 

            A) Australia     B) France  

            C) Brazil      D) England 
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36. Who is the current Chief Justice of India? 

A) Hon'ble Mr. Justice Ajjikuttira Somaiah Bopanna 

B) Hon'ble Mr. Justice Sanjiv Khanna 

C) Hon'ble Mr. Justice Sanjay Kishan Kaul 

D) Hon'ble Dr. Justice D.Y. Chandrachud 

37. Who is the current Director General of Police in Tamil Nadu? 

            A) Sandeep Rai Rathore   B) Shankar Jiwal  

            C) Sylendra Babu    D) P. Ravisekaran 

38. Who is the current chief of the Intelligence Bureau? 

            A) Samant Goel    B) Ajit Doval  

            C) Rajiv Jain     D) Tapan Deka 

39. Which among the following cities is the first city in India to have a Water Metro? 

            A) Kochi      B) Kolkata   

            C) Gandhinagar    D) Allahabad  

40. Who is the current director of the Central Bureau of Investigation? 

             A) R. K. Raghavan    B) Praveen Sood  

            C) Ranjit Sinha    D) Ashwani Kumar  

41. In a certain code ROSE is written as #43$ and FIRST is written as 5★#37. How is STORE 

written in that code? 

 A) 473$#       B) 473#$ 

 C) 374#$       D) 347#$ 

42. A 200-metre-long train crosses a platform of double its length in 36 seconds. What is the 

speed of the train in KMPH? 

 A) 60        B) 48 

 C) 64        D) 66 

43. If BAD is coded as 5-4-7, then the code for DARK is 

 

A) 7-4-20-14       B) 7-4-21-3 

C) 7-4-21-14       D) 7-4-20-13 

44. Ritu is elder to Dimple. Suresh is younger to Ritu and Rekha. Rekha is younger to Dimple. 

Who amongst them is the youngest? 

 

A) Ritu       B) Rekha 

C) Dimple       D) Suresh 
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45. Mahender walked 30 metres towards east, took a right turn and walked another 40 metres. He 

again took a left turn and moved 30 metres. In which direction is he now from the starting 

point? 

 

A) North–East       B) East 

C) South–East       D) South 

46. Who is the current chancellor of Nalanda University? 

A) Amartya Sen    B) Sunaina Singh  

            C) Arvind Panagariya    D) Rana Purushothaman  

 

47. SHOE : NCJZ : : REWA:   

A) WJBF       B) CITY 

C) MZRV       D) CAAR 

48. A and B together can do a piece of work in 12 days, while B alone can finish it in 30 days. A 

alone can finish the work in:   

A) 15 days       B) 18 days  

C) 20 days        D) 25 days 

49. NLO MKP  LJR  ?  JHY 

A) KIU      B) JHU 

C) KHU                 D) KIT 

50. Each vowel of the word QUALITY is changed to the next letter in the English alphabetical 

series and each consonant is changed to the previous letter in the English alphabetical series. If 

the letters of the new word thus formed are arranged in alphabetical order from left to right, 

which of the following alphabet will appear exactly in the middle? 

A) S      B) B 

           C) P      D) K 

51. Seema remembers that Amit’s birthday is after 10th but before 13th march, whereas Rehka 

remembers that Amit’s birthday is after 11th but before 15th March. If both are correct then, on 

which day is Amit’s birthday? 

A) 11th March      B) 12th March  

            C) 13th March      D) 14th March  

52. Statements: 

Some mangoes are apples 

Some bananas are apples 

Some branches are bananas 
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Conclusions: 

1. Some mangoes are bananas 

2. Some branches are apples 

3. Some branches are mangoes 

4. All apples are mangoes 

A) None follows     B) Only 1 and 2 follow 

C) Only 3 and 4 follow    D) Only 1 and 4 follow 

53. Statements: 

All men are wolves 

All owls are men 

All parrots are owls 

Conclusions: 

1. All wolves are owls 

2. All owls are wolves 

3. All parrots are wolves 

4. All parrots are men 

A) All follow     B) Only 3 and 4 follow  

C) Only 2 and 3 follow    D) Only 2, 3 and 4 follow 

54. A car can cover a distance of 144 km in 1.8 hours. In what time (in hours) will it cover double 

the distance when its speed is increased by 20%? 

A) 3      B) 2.5 

C) 2      D) 3.2 

55. If the LCM and HCF of two positive integers are 18 and 3 respectively, then what is the 

minimum possible value of their sum? 

A) 21       B) 15 

C) 18      D) 16 

 

56. Find the missing element in the series: 30, ___, 390, 784, 786 

  A) 328      B) 228 

  C) 128      D) 75 

57. A and B each has some money. If A gives Rs. 30 to B then B will have twice the money left 

with A. But if B gives Rs. 10 to A, then A will have thrice as much as is left with B. Then,  

A and B have _______________ respectively. 

               A) Rs. 44, Rs. 72    B) Rs. 62, Rs. 34 

               C) Rs. 72, Rs. 44    D) Rs. 34, Rs. 62 
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58. A sum of Rs. 7,000 is divided among A, B, C in such a way that the shares of A and B are in 

the ratio 2:3 and those of B and C are in the ratio 4: 5. The share of B is: 

A) Rs. 1,600       B) Rs. 2,000 

C) Rs. 2,400       D) Rs. 3,000 

59. Kamala bought a bicycle for Rs. 1,650. She had to sell it at a loss of 8%. She sold it for: 

A) Rs. 1,581       B) Rs. 1,518 

C) Rs. 1,510       D) Rs. 1,508 

60. In a village 30% of the population is literate. If the total population of the village is 6,600, then 

the number of illiterate is: …………. 

A) 1980       B) 4620 

C) 2200       D) 3280 

SECTION – B 

                                                                 40 x 1 = 40 

 

Directions for Q.61 to Q.65: Read the following passage carefully to answer the questions given 

below. 

 

Though the cold war has ended, selective tactics are still continuing for ensuring the military and 

economic dominance of developed countries. Various types of technology denial regimes are still being 

enforced which are now being mainly targeted against developing countries like India. Today, we in 

India encounter twin problems. On the one side, there is a large scale strengthening of our neighbours 

through supply of arms and clandestine support to their nuclear and missile programmes, and, on the 

other side, all efforts are being made to weaken our indigenous technology growth through control 

regimes and dumping of low-tech systems, accompanied with high commercial pitch in critical areas. 

Growth of indigenous technology and self-reliance are the only answer to the problem.  

Thus, in the environment around India, the number of missiles and nuclear powers are continuously 

increasing and destructive weapons continue to pile up around us, in spite of arms reduction treaties. 

To understand the implications of various types of warfare that may affect us, we need to take a quick 

look at the evolution of war weaponry and the types of warfare. I am highlighting this point for the 

reason that in less than a century we could see change in the nature of warfare and its effects on society.  

In early years of human history, it was mostly direct human warfare. During the 20th century up to 

about 1990, the warfare was weapon driven. The weapons used were guns, tanks, aircraft, ships, 

submarines and the nuclear weapons deployed on land/sea/air and also reconnaissance spacecraft. 

Proliferation of conventional nuclear and biological weapons was at a peak owing to the competition 

between the super-powers. The next phase, in a new form, has just started from 1990 onwards. The 

world has graduated into economic warfare. The means used is control of market forces through high 

technology. The participating nations, apart from the USA, are Japan, the UK, France, Germany, 
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certain South-East Asian countries and a few others. The driving force is the generation of wealth with 

certain types of economic doctrine.  

The urgent issue we need to address collectively as a nation is, how do we handle the tactics of 

economic and military dominance in this new form coming from the backdoor? Today technology is 

the main driver of economic development at the national level. Therefore, we have to develop 

indigenous technologies to enhance our competitive edge and to generate national wealth in all 

segments of economy. Therefore, the need of the hour is arm India with technology. 

61. Why do certain countries use selective tactics against developing countries?  

A) To help developing countries gain military and economic independence   

B) To help developing countries govern themselves and be economically independent  

C) To ally with developing countries to dominate over other developed countries   

D) To curtail their domination over developing countries 

62. Which are the issues of great concern that India is facing at present, according to the author 

of the passage? 

1) The supply of high-tech weaponry by other countries to India’s neighbours who are likely 

to use the same against India   

2) Other countries secretly helping India’s neighbours to strengthen their nuclear might  

3) Obstruction of India’s genuine efforts to develop its own nuclear technology   

 Select the correct answer using the code given below: 

A) 1 and 2 only      B) 2 and 3 only 

 C) 1 and 3 only      D) 1, 2 and 3 

63. Enforcement of technology denial regimes by developed countries implies which of the 

following? 

A) Dominance of developing countries over developed ones    

B) Exploitation of developing nations by the mightier ones    

C) Targeting of developed countries by developing countries  

D) Sympathising with underprivileged countries   

64. According to the author, the most effective way to counter our major problems is to  

1) develop indigenous technologies    

2) compete with other countries in their warring tactics     

3) generate national wealth in all segments of economy 

  Select the correct answer using the code given below: 
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A) 1, 2 and 3       B) 1 and 2 only  

 C) 2 and 3 only      D) 1 and 3 only  

65. What, according to the author, is the immediate problem to be collectively resolved by our 

country?  

A) To counter the dominance of developed countries through money and muscle power   

B) To eradicate poverty and become economically self-reliant      

C) To control the exorbitant rate of population growth 

D) To develop indigenous technology to manufacture mightier weapons  

Directions for Q.66 to Q.70: Each of the following sentences in this section has a blank space 

with four words or group of words given. Select whichever word or group of words you consider 

the most appropriate for the blank space and select your response accordingly. 

Bad habits such as over-eating, drinking or smoking (51) ________ very easy to acquire. One should 

fight (52) ______ the force of habit. Even good things can be very harmful when done (53) _________ 

excess. The wise man is conscious (54) _________ his bad habits and checks them promptly. The use 

of tobacco has spread all (55) ________ the world. 

    66.   A) have     B) are 

            C) will      D) shall 

    67.  A) from      B) for 

            C) of      D) against 

    68. A) to       B) in 

            C) with     D) as 

    69. A) about     B) with regard to 

            C) of       D) with 

    70.  A) around     B) of 

            C) over     D) in 

Directions for Q.71 to Q.75: Read the following passage carefully to answer the questions given 

below. 

 

The evolution of Bring Your Own Device (BYOD) trend has been as profound as it has been rapid.  It 

represents the more visible sign that the boundaries between personal life and work life are blurring. 

The 9 am – 5 pm model of working solely from office has become archaic and increasingly people are 

working extended hours from a range of locations.  At the very heart of this evolution is the ability to 

access enterprise networks from anywhere and anytime. The concept of cloud computing serves 
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effectively to extend the office out of office.  The much-heralded benefit of BYOD is greater 

productivity. However, recent research has suggested that this is the greatest myth of BYOD and the 

reality is that BYOD in practice poses new challenges that may outweigh the benefits.  A worldwide 

survey commissioned by Fortinet chose to look at attitudes towards BYOD and security from the users 

points of view instead of the IT managers. Specifically, the survey was conducted in 15 territories on 

a group of graduate employees in their early twenties because they represent the first generation to 

enter the workplace with an expectation of own-device use. Moreover, they also represent tomorrow’s 

influencer and decision makers. The survey findings reveal that for financial organization, the decision 

to embrace BYOD is extremely dangerous.  Larger organizations will have mature IT strategies and 

policies in place. But what about smaller financial businesses? They might not have such well- 

developed strategies to protect confidential data.  

Crucially, within younger employee group, (55%) of the people share an expectation that they should 

be allowed to use their own devices in the workplace or for work purposes. With this expectation 

comes the very real risk that employees may consider contravening company policy banning the use 

of own devices.   The threats posed by this level of subversion cannot be overstated.  The survey casts 

doubt on the idea of BYOD leading to greater productivity by revealing the real reason people want to 

use their own devices. Only 26% of the people in this age group cite efficiency as the reason they want 

to use their own devices, while 63% admit that the main reason is so they have access to their favourite 

applications. But with personal applications so close to hand, the risks to the business must surely 

include distraction and time wasting. To support this assumption, 46% of people polled acknowledged 

time wasting as the greatest threat to the organization, while 42% citing greater exposure to theft or 

loss of confidential data. Clearly, from a user perspective there is great deal of contradiction 

surrounding BYOD and there exists an undercurrent of selfishness where users expect to use their own 

devices, but mostly for personal interest. They recognize the risks to the organization but are adamant 

that those risks are worth taking. 

71. According to the passage, for which of the following reasons did Fortinet conduct the survey 

on a group of graduate employees in their early twenties? 

a) As this group represents the future decision makers 

b) As this group represents the first generation who entered the workforce with a better 

understanding of sophisticated gadgets 

c) As this group represents the first generation to enter the workplace expecting that they can use 

their own devices for work purpose 

A) A, B and C       B) C only   

 C) Both A and C      D) A only 

72. Which of the following is not true about BYOD? 

A) BYOD enables employees to access enterprise network from anywhere and anytime        
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B) Due to evolution of BYOD trend the 9 am – 5 pm model of working solely from office has become 

outdated 

C) Recent research has confirmed that BYOD boosts organizational productivity 

D) The concept of cloud computing facilitates the BYOD trend 

73. According to the passage, why would the decision to embrace BYOD prove dangerous to smaller 

financial businesses?     

A) Their employees have poor knowledge about their devices which in turn pose a threat to the 

confidential data of the organization        

B) The employees are more vulnerable to misplacement of device 

C) They may lack mature IT strategies and policies required to protect confidential data 

D) They cannot afford to deal with damage liability issues of employee-owned devices 

74. According to the passage, the expectation of younger employees that they should be allowed 

to use their own devices in the workplace, entails which of the following risks? 

A) Younger employees may deliberately transfer confidential data of their companies to rivals 

if they are not allowed to use their own devices for work purpose 

B) Younger employees may strongly feel like leaving the company if it prevents usages of own 

device and join some other company that does not have such stringent policies 

C) Younger employees may consider flouting company policy prohibiting usage of their own 

devices in the workplace or for work purposes 

A) C only       A) B only   

 C) Both A and C      D) A only 

75. According to the findings of the survey conducted by Fortinet, why do majority of employees 

prefer using their own devices for work purpose? 

A) As they often find that the devices provided by the company lack quality        

B) As they have access to their favourite applications while working 

C) As majority of them believe that output doubles when they use their own devices for work purpose 

D) As handling data from their own devices reinforces their sense of responsibility 

 

Directions for Q.76 to Q.80: Read the following passage carefully to answer the questions given 

below. You are required to select your answers based on the contents of the passage and opinion 

of the author only. 

All organisms such as plants, animals, microorganisms and human beings as well as the physical 

surroundings interact with each other and maintain a balance in nature. All the interacting organisms 

in an area together with the non-living constituents of the environment form an ecosystem. Thus, an 

ecosystem consists of biotic components comprising living organisms and abiotic components 

comprising physical factors like temperature, rainfall, wind, soil and minerals. For example, if you 
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visit a garden you will find different plants, such as grasses, trees; flower-bearing plants like rose, 

jasmine, sunflower; and animals like frogs, insects and birds. All these living organisms interact with 

each other and their growth, reproduction and other activities are affected by the abiotic components 

of the ecosystem. So, a garden is an ecosystem. Other types of ecosystems are forests, ponds and lakes. 

These are natural ecosystems while gardens and crop-fields are human-made ecosystems. 

76.  The general tone of the passage is ____________. 

         A) Critical     B) Satirical 

         C) Analytical     D) Informational 

77. Which of the following is a non-living constituent of the environment? 

         A) Wind                 B) Bacteria 

         C) Grasses     D) Frog 

78. Abiotic components of the ecosystem refer to 

           A) Living organisms    B) Non-living organisms 

           C) Natural surroundings   D) Physical factors  

79. Which of the following is not a natural ecosystem? 

          A) Crop-field      B) Forest 

          C) Pond                 D) Lake  

80. The word ‘constituent’ in the passage implies 

          A) Constellation    B) Consternation 

         C) Component     D) Constriction 

 

Directions for Q. 81 to Q.90: From the alternatives given in these questions, choose a word 

nearly similar in meaning to the words given in CAPITALS. 

81. BENIGN  

 A) happy       B) kind 

 C) popular       D) clear  

82. PROLIFIC  

 A) obvious       B) well-timed 

 C) needy       D) productive 

83. PRAGMATIC  

  A) recent       B) philosophical 

 C) definitive        D) practical 

84. PRECIOSITY  
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A) being of great value     B) richness of design 

 C) over-refinement in art     D) over-decoration 

85. WITHER  

A) change       B) die unnaturally  

 C) come together      D) decay 

86. The sage PONDERED over this for a long time. 

A) Guessed      B) Puzzled  

            C) Studied     D) Thought  

87.  The tiger POUNCED on the poor disciple and killed him. 

A) Climbed      B) Looked  

          C) Plunged      D) Jumped  

88. Words of ENDEARMENT always touch me. 

A) Praise      B) Fondness  

C) Conviction     D) Wisdom 

89. His GIBBOUS looks make him different from others. 

A) Hunched      B) Smart 

C) Charming     D) Disabled  

 

90. They SMOTHERED the fire in the building. 

A) Lighted      B) Surrounded  

         C)  Doused      D) Saw 

Directions for Q.91 to Q.100: In the following questions choose the alternative which best 

expresses the opposite meaning of the words given in CAPITALS. 

91. ENDOW  

A) rob        B) snatch 

 C) divest       D) dispossess 

92. BEGET  

A) forget       B) fade 

 C) harm       D) abort 
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93. CONTINENCE  

A) self-indulgence      B) location 

 C) awakening       D) unconsciousness 

94. ABEYANCE 

A) speedy recovery      B) instant action 

 C) certain impact      D) total effectiveness  

95. BESTOW  

A) keep       B) hide 

 C) praise       D) stop 

96. They were all very BRIGHT and eager students.  

A) Dim                  B) Soft 

C) Dull       D) Faint  

97. It was huge and looked wickedly FIERCE even when dead.  

      A) Timid                 B) Emotional 

             C) Civilised      D) Pleased  

98. The teacher CHIDED the pupil 

      A) Admonished     B) Reprimanded 

             C) Commended     D) Reproved  

99. The house was full of CHAOS when I reached 

     A) Disorder      B) Confusion  

            C) Uniformity     D) Order 

100. Some animals live a DORMANT life 

     A) Latent                  B) Inert 

            C) Sluggish      D) Active  

 

  

                                         *************** 
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